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B.Sc. DEGREE EXAMINATION, FEBRUARY -
MATHEMATICS
Differential Equations
(Semester - 1) (CBCS Pattern) (Regular)

(w.e.f. 2020-21 Admitted Batch)

(W.E.F. 2021-22 ADMITTED BATCH
STUDENTS MUST ANSWER THE QUESTIONS
IN ENGLISH MEDIUM ONLY)

2023

Time : 3 Hours Max. Marks : 75

SECTION - A (5 x 5 = 25)

Answer any Five questions
Each question carries five marks

1. Solve: (¢’ +1)cosxdx+e’ sinxdy=0-

(¢’ +1)cosxdx+e’ sinxdy =0 0 ApEOoTS0s.

. 1 2x
2. Find (D—2)(D—3)e ;

e 2x
(D-2) (D- 3) ) @35,)01'50&

3. Solve: 4xp* = (3x—a)’.

4xp? = (3x—a)* & eQotsod.
$-47 1] [PT.O.
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Solve: y"—2y'-3y =0, given that y(0) = 0, »'(0) =1.
30) =0, y(0) =1 epaRy'~2y'=3y = 0 o Focsod,
Find the particular integral of (D*-3D +2)y =sinex
(D? — 3D + 2)y = sin e G50, HB;5 DSREDD 089,08,
Solve: (py +x) (px—y) =2p

(py + x) (px —y) = 2p & FOSOG.

dy x
Solve: x—+ylogy=xye
dx

dy

x——+ylogy=xye" % doisod.
X

SECTION - B (5 x 10= 50)

Answer All questions
Each question carries 10 marks

a) Solve (D?-4)y=3¢* —4¢™

(D? —4)y =3e> —4e™> & POoS0B.
OR
12|
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‘)

b)

10. a)

b)

11. a)

b)

12. a)
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Solve: (D -2D+4)y =8[x? + ¢** +sin2x]
(D’ —2D+4)y =8[x* + ¢ -+5in2x] & oS0,

Solve (D> +3D -4)y=e“**+x.

(D*+3D —4) y = e + x & 00508, -
OR
Solve y"+2y'+5y = xsinx + x2e**.

Y"+2y'+ 5y = xsin x + x2e** & Oo0s.

Using the variation of parameters method, solve
the Equation y”—2y'+ y =¢" 'log X.

DOBIY  DIOBID DY &DBRA0D
Y'=2y'+y =e" log x DOOSGER P08,

OR
d’ d
Solve x* dx’,f+Jca£)’:—=4y=x2
2
28y G

it o 4y =x* % POOBOB.

Find the orthogonal trajectories of the family of

curves 4y +x*+ 1+ Ce? =0, where C is an orbitrary
constant.

!
4y+x2+1+Ce¥»=0 C OfRQE 0B Sgoe Brkaow

002 KOO BE8,08.

OR
3] [PT.0.
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b)

13. a)

b)
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Solve the differential equation x2p24,,

_d
(2x+y)+y2=0where P—ZE.

dy
P=-L
aé&cs .’

Solve the differential equation.
-, IJ :
y|1+—|+cosy
\ X

dx + (x +log x —xsin y)dy =0

Y :
y 1+——)+cosy
[\ X

BOHEOD DO ROOIOB.

dx +(x+logx—xsin y)dy =0

-

OR
Solve: y(1-xy)dx—x(1+xy)dy =0
V(I =xy)dx —x(1+xpy)dy =0 & »OoSO0k.

++++
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